Study material
p. 54 / ex. VI. — suggested answers

illustrates (shows) the rise in; The graph shows (illustrates) that; rose from; reaching a peak of; 14™;
declined to; 2.5 million; a steady rise; levelled of; level was maintained; began to rise rapidly; 40
million; 1940; the present trend is maintained; it is estimated that; will reach 65

p. 62/ ex.lll.
1. than, 2. as, as, 3. less/more, than, 4. more/less, 5. that, 6. than, 7. more (less)

p. 63/ ex. IV.
1. the biggest, 2. There are, 3. (much) bigger, 4. slightly smaller population, 5. the same as, 6. the size,
7. as big, 8. twice as, 9. twice



